Probability density

w

HCC occurrence probability

P=0.05 ]
704 1 GSE89377 4
. 1 5 Ascending genes 5
4 ! > 19l (n=82) >
6.0 \ @ 10 o 2
| s 15
504 2 2
g 54 © 04
4.04 [ <3
Ul v}
3.04 Optimal signature o @ iy
P =0.009 g 01 g
2.0 Hazard Ratio = 1.13 é g,) GSE89377
95% Cl: 1.03 - 1.24 i iii 4] Descending genes
1.04 —54 (n=18)
0.0
r T T T T d T T T T T T é T T Q0. <§: <§: Qe:
0.0 0.2 0.4 0.6 0.8 1.0 & & o S0 SO SO (< &f N
. S & @ 5% 5% & & S PP B OO O B0
P value (Cox regression) D S *ei& & %0&0 a%o&ofy" Q‘O«O'b"’ & SN O*Qi"b&gb‘\{% Q*o«o\ﬁ Q\o«ofv” & & Y
0.8
GSE6764
J < 104 Ascending genes 3 2
0.6 H (n=82) H
c <
kel k<]
73 |73
0 54 73
0.4 1 g g 04
3 3
2 o
0.2 aé qé’ -2
. b o) GSE6764
Log-rank test ke 2 :
i} i} Descending genes
P <0.001 -5 (n=18)
0.0 44
0 40 80 120 160 200 240 O N N
& F P L L L & F P EL B S I
Time to HCC occurrence (months) N JROXSIRY S ‘?‘d,bsp‘?‘ S RO RXTRT S° ‘?‘d,p*”‘?‘
K9 ©



